

$$(a^p + b^p - pab)^p (a^p + b^p + pab)^p = t(p - \sqrt{p})$$

$$(a^p + b^p)^p - 2a^p b^p = [a^{\frac{p}{p}} + b^{\frac{p}{p}} - pab]^p = (p\sqrt{p} - p\sqrt{p})^p = 3p - 19\sqrt{p} = t(p - \sqrt{p})$$

$$\rightarrow (t=19)$$

$$a^p = \sqrt{p} - p$$

$$b^p = \sqrt{p} + p$$

$$a^p b^p = \left(\sqrt{\sqrt{p} + p} \times \sqrt{\sqrt{p} - p} \right)^p = p$$

$$(\sqrt{p})^p = \sqrt{p}$$

$$\left[\left(a + \frac{1}{a} \right)^p - p \right]^p = p^t \rightarrow a^p + \frac{1}{a^p} + p = p^t \rightarrow p - \sqrt{p} + p + \sqrt{p} + p = 19 = p^t$$

$$\underline{t=p}$$

$$a^p + \frac{1}{a^p} + p - p$$

$$a^p = p - \sqrt{p}$$

$$\frac{1}{a^p} = \frac{1}{p - \sqrt{p}} = p + \sqrt{p}$$

$$A = \sqrt[p]{p \sqrt[p]{19}} \left(\frac{1}{p} \right)^{-\frac{p}{p}} = p^{\frac{p}{10}} \times p^{\frac{p}{10}} \times p^{\frac{p}{10}} = p^{\frac{p+p+p}{10}} = p^{\frac{3p}{10}} = p^{\frac{3}{10}p} = p^{\frac{3}{10}p}$$

$$(pA)^{-\frac{1}{p}} = \sqrt[p]{\frac{1}{pA}} = \sqrt[p]{\frac{1}{p}} = \frac{1}{p}$$

$$\sqrt[p]{a} = p \times a^{\frac{1}{p}} \rightarrow a^{\frac{1}{p}} = \frac{1}{p} \times a^{\frac{1}{p}} \rightarrow a^{-\frac{1}{p}} = \frac{1}{p} \rightarrow a^{\frac{1}{p}} = \frac{1}{p\sqrt{p}}$$

$$\frac{1}{a} - p = -p\sqrt{p} - p$$

$$\frac{p\sqrt{p} - p}{1 + \sqrt{p}} \times \frac{1 - \sqrt{p}}{1 - \sqrt{p}} = \frac{p\sqrt{p} - 1p}{-p} = p - p\sqrt{p}$$

$$\sqrt{x+a} - \sqrt{x-k} = p$$

$$\sqrt{x+a} + \sqrt{x-k} = ?$$

$$(\sqrt{x+a} - \sqrt{x-k})(\sqrt{x+a} + \sqrt{x-k}) = x+a - x+k = a+k$$

$$\sqrt{x+a} + \sqrt{x-k} = \frac{a+k}{p}$$

$$\frac{a+k}{p} - \frac{p}{p} = \left(\frac{a}{p} \right)$$